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A T

GENERAL KNOWLEDGE
1. W 2025 § gHar fafersmd o @ geeft W wited aret Siafey At s = am ® 7

(A) Toreret TR (B) St BT (C) STA T (D) g9 faemi
What is the name of the astronaut who returned to earth along with Sunita Williams in March 2025 ?
(A) Victor Glover (B) Jeremy Hansen (C) John Glenn (D) Butch Wilmore

2. TIHE TSI 3T S8 WRA &1 58 91 9 319IRA Hifya foparn manr, fraferfaa & @ fohm t=a &
ferme v
(A) eI (B) HEAIGH (C) WL (D) HERTSZ
Madhav National Park that was declared India’s 58" Tiger Reserve is situated in which of the following
States ?
(A) Meghalaya (B) Madhya Pradesh (C) Manipur (D) Maharashtra

3. fr=fafiga & 9 foraent 2024 8 ‘i@ w0 @ geaifaa o mm 2
a. . TF. WA

b. =Nl =7or T

c.%‘iﬁ%‘l@

d. g s

= feu U foehedt & @ TE 3T FHT

(A) e a (B) e ad b (C) et a,bd ¢ (D) e a,b 9 d

Who among the following has been awarded ‘Bharat Ratna’ in 2024 ?
a. M. S. Swaminathan
b. Chaudhary Charan Singh
c. Karpoori Thakur
d. Harmanpreet Singh
Choose the correct answer from the options given below :

(A) Only a (B) Onlyaandb (C) Onlya,bandc (D) Only a,bandd
4. TS gsia IR fefafga 4 @ fra s o feua 8 2

(A) HETICH (B) ITTIC (C) Beftae (D) e

Mhadei Wildlife Sanctuary is located in which of the following States ?

(A) Madhya Pradesh (B) Uttar Pradesh (C) Chattisgarh (D) Goa
5. BUR Efd ol FUL AN HAR S0 & &bl T & Sl T&Id: &1 8ial &

(A) Hice=m FHEHE HI (B) Eifyem ®wRThe 1

(C) eI HRTHS < (D) hicyRm 3T h

Our tooth crown remains capped with hard enamel which is principally made of

(A) Calcium Carbonate (B) Magnesium Phosphate

(C) Calcium Phosphate (D) Calcium Oxalate
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6. TA.3.M. 2020 % AR HieAtheh forenmera feq o sw=ata fora shemmati i smfe foran w2 7

(A) HETT 6T HaTT 9 (B) heTT 4 T el 6
(C) SeTT 59 e 8 (D) eI 6T hefl 8
Which classes are included in the middle school education according to NEP 2020 ?
(A) Class 6 to Class 9 (B) Class 4 to Class 6
(C) Class 5to Class 8 (D) Class 6 to Class 8
7. Trafafea § @ fraa awy fren 61 sragmon 1 gfadre form o 2
(A) it arfere (B) TamH} g
(C) Tt faaerr= (D) 39IF | T HIE &I
Who among the following propounded the concept of Integral Education ?
(A) Sri Aurobindo (B) Swami Dayanand
(C) Swami Vivekanand (D) None of the above
8. FH —I ! FA - 11k Ty Fuferd L |
g -1 g -1l

a. Toreren forem . T1.3.9. 2020 FT1 1 23

b. FrENfiehl <1 39T Il T1.3.91. 2020 1 D™ 20

c. SATFETREs et . ©.3.91. 2020 1 37EA 21

d. e faram IV. TA.3.91. 2020 T ™ 15
= feu e e # @ T IW T
e :
(A) a=IV,b=1,c=1l,d=1lI B) a=IV,b-1,c=1l,d=-1
(C) a-l,b=IV,c—-1ll,d-1l (D) a—=lL,b—1IV,c—1Il,d-lll
Match List — | with List — II.

List -1 List -1l

a. Teacher education I. Chapter 23 of NEP 2020

b. Technology use Il. Chapter 20 of NEP 2020

c. Professional education [ll. Chapter 21 of NEP 2020

d. Adult education IV. Chapter 15 of NEP 2020
Choose the correct answer from the code given below :
Code :
(A) a=IV,b=1,c=1l,d=1lI B) a=IV,b—-1,c=1l,d=-1
(C) a-l,b=IV,c—-1ll,d-1l (D) a=lL,b=IV,c—1Il,d-1l

9. TAZW. 2020 3.H . H 5. T AT ?
(A) IR STcaTaET i c@9Te 3R fIrem (B) IRk s shiegd frem

(C) s h I=q f3rem wa e@vra (D) =9 6T FHIS @A TF e
In NEP 2020, ECCE stands for
(A) Early Childhood Care and Education (B) Early Childhood Centered Education

(C) Enhanced Childhood Caring and Education (D) Efficient Childhood Care and Education
M -3- 31
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10. Trfafea & @ &9 v wRa § TSI GoATehd U9 TR 9Hwe (NAAC) 1 ST Bishd 8 7

11.

12.

(A) BT 1 foxfta TEmEar YgH ST

(C) 3= T1&T GEAMT 1 TeA=A

(NAAC) in India ?

(A) Providing financial aid to student
(C) Accreditation of higher education institutions

(B) Tervafeoramer™ waer qfien i e

(D) HEIMHT | =M 6" 1 faf=ma

Which one of the following is the primary focus of the National Assessment and Accreditation Council

3mffe faeh@ & fou PURA gfeesrivn frmfoaifaa o @ foraes femm &1 3ow1 2 7

(A) TR To8
(C) 3\t T

(B) T. |I. §. 37egd HA™
(D) ST H F rE T

(B) Conducting university entrance examinations
(D) Regulating tuition fees in institutions

PURA approach to economic development is the brain child of who among the following ?

(A) Manmohan Singh
(C) Amartya Sen

(B) A.P.J.Abdul Kalam
(D) None of the above

T — | I g — 1| § gHTTd R a1 i o A= U T FHe T IT A == HINT |

T - T - I

(=) (T 3am)
a. TSeYH . HHE TS 3T
b. BTG 1. T Seft asdr 3Tm
c. 319H 1. SgTadt TS 3ae
d. fears IV. heretTed TSR 3
He:

(A) a=IV,b-1lll,c—Il,d-1
(C) a=1ll,b=1V,c=1,d=1l

(B) a—IV,b—1Ill,c—1,d~—Il
(D) a-1l,b—1V,c—1l,d—1

Match List — | with List — Il and select the correct answer from the code given below the lists.

List -1
(State)
a. Rajasthan
b. Chhattisgarh
c. Assam
d. Himachal Pradesh
Code :
(A) a=1IV,b=1Ill,c=Il,d-1
(C)a=Ill,b=1V,c=1,d=1l

List -1l
(National Park)

Manas National Park

. Pin Valley National Park
. Indravati National Park

. Keoladeo National Park

B) a-IV,b-1ll,c—1,d—1I
(D) a—1ll,b—1IV,c—1Il,d—I
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13, T& + 20 gora: ffafaa o & fored gvafi@ 2 7

(A) 3T farepma (B) waq ferepre

(C) SHEET T (D) = T

Rio + 20 is mainly related to which of the following ?

(A) Economic development (B) Sustainable development
(C) Population control (D) Forest protection

14. ‘CUAH.AR. 1 w7 37 @ 7

(A) TIETAT eaeh Wi TgaH (B) TH=fAd & wid Ug=H
(C) 3+d e Wi Yga™ (D) TErETId TS Wi T8
What does ‘ANPR’ stands for ?
(A) Automatic Network Plate Recognition (B) Automatic Number Plate Recognition
(C) Advanced Number Plate Recognition (D) Automated National Plate Recognition
15. ‘gaq faem’ o1 fo=m frm ad s1feaca # 3w ¢
(A) 1972 (B) 1980
(C) 2007 (D) 39YFd | & HIS &l
In which year did the idea of ‘Sustainable development’ came into existence ?
(A) 1972 (B) 1980
(C) 2007 (D) None of the above
16. T=AfaRed & & &F T feRa MW & ?
(A) A (B) Eiferaw
(OREEEE (D) TS HIFISTIFETES
Which one of the following is a greenhouse gas ?
(A) Methane (B) Helium
(C) Hydrogen (D) Carbon monoxide
17. Tr=fafea & 9 fpd 2024 W Tieet AM7Td JOERR & FEATHA fehall o1 7
(A) HeX (B) 3T &M g H
(C) HeTeTl JHBTE (D) FeM fegmer
Who among the following was awarded the Nobel Peace Prize 2024 ?
(A) Mother Teresa (B) Aung San Suu Kyi
(C) Malala Yousafzai (D) Nihon Hidankyo
18. Tr=fcifea § @ M Teh U a1 hisHe fHeM ATSHT & qouid: 98 & o1 ?
(A) TETeHT et (B) JATR AT 8®
(C) TER Yo (D) HIATHT 3T el TG
Who among the following leader of Congress was totally in favour of Cabinet Mission Plan ?
(A) Mahatma Gandhi (B) Jawahar Lal Nehru
(C) Sardar Patel (D) Maulana Abul Kalam Azad
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19. 2005 ¥ TR BT FAME! MR 1 TATHR Iexd &1 & 7

(A) TTTd HEENR | Mfd Lfud s (B) f3eh e SR SAAT
(C) HETENRIT YguuT ! =it e (D) METSH Tl o IcESH ! HH HAT
What is the primary purpose of Kyoto protocol which came into effect in 2005 ?
(A) Establish peace in the pacific ocean (B) Create a global carbon market
(C) To regulate ocean pollution (D) To reduce the emission of greenhouse gasses
20. 1857 % fagig o q&d =al
a. Tt orerfiasg
b. WA AU
c. Sglgl AT ST
d. TR fER a7t
9 fow o et B & W SR AT ;
(A) 9 a, b, ¢ (B) e b, ¢, d (C) %aei d, a, b (D) %ad ¢, d, b

Main leaders during the Revolt of 1857
. Rani Laxmibai

. Bahadur Shah Zafar

a
b. Mangal Pandey
c
d. Mir Nisar Ali

Choose the correct answer from the options given below :
(A) a, b, conly (B) b, c,donly (C) d,a, bonly (D) c,d, bonly

21. T A& Al A JaTg WISl & Ty § feferfad § @ -8 wY gg § 7
a. WRA ® T T JoTCl TEY 9L |
b. T T ITH IAHTE A B |
c. TS qUT JSTT T JUTTeAt shY ek At § |
d. | 7 T % gIfe q¢ hl YW TEEe TG 8 |
3 fow U et B @ W SR AT ;
(A) ad a, b, ¢ (B) e b, ¢, d (C) %ad a, c, d (D) e a, b, d
With reference to river Ganga drainage system, which of the following statements are correct ?
a. The Ganga river system is largest in India.
b. Ganga rises in the Uttarkashi.
c. Satluj and Jhelum are tributaries of Ganga system.
d. Son river is its major right bank tributary of Ganga.
Choose the correct answer from the options given below :
(A) a, b, conly (B) b, c,donly (C) a,c,donly (D) a, b,donly
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22, W U fferigd o @ fopm g o feva 2 9

(A) ST (B) ¥gH (C) Wrd (D) TTfeREa™
Khyber Pass is situated in which of the following countries ?
(A) Bangladesh (B) Bhutan (C) India (D) Pakistan

23. ‘simaNfaE ywe fefafega & 9 feraem afom 2 2

(A) HEETRIE g (B) Al <1 o

(C) TS gre fi=ard (D) ==5HT 1 Tecarehyyl fg=ma
‘Coriolis effect’ is a result of which of the following ?

(A) Ocean currents (B) Earth’s rotation

(C) Atmospheric pressure differences (D) The gravitational pull of the moon

24. Tt SIadl, S siaaisdia sicfuss afifa (10C) 6t sreaet T 9T areft ugel wfgen s, frfafaa

Tafracwad ?
(A) s (B) tegferan
(C) ST (D) T T IR

Kirsty Coventry, who became the first woman to be elected as President of the International Olympic
Committee (I0C) is from which of the following countries ?

(A) Zimbabwe (B) Australia

(C) Brazil (D) United States of America

25, T=fafad #§ & SiH-u1/8 Ui SHEE fifd, 2000 % 3w B/8 7
1. 2045 T THEE TR & |
2, TTY JeI&X ! 100,000 Sfferd SHHI T 100 & =l AMT |

Hre feu MU e @ T I B T AT

F2:

(A) I (B) e 2

(C) 1 3R 2 qMI DELRE LR

Which of the following is/are the objectives of National Population Policy, 2000 ?
1. Population stabilisation by 2045.
2. Reduce maternal mortality rate to below 100 per 100,000 live birth.

Select the correct answer from the code given below :

Code :
(A) Only 1 (B) Only 2
(C) 1and 2 both (D) Neither 1 nor 2
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26

27.

28.

. T=fafaa & @ 9 ge@ gfag 4o awm # 2
1. I TR
2. §ig aW
3. Rd | fopeft oft feuiforedt & o w feuifsed @
= feu T e @ TE T H = HIR
He:
(A) Ha 1 (B) ot 1 3R 3 (C) whaat 2 3R 3

Which among the following are the best known capital markets ?
1. The stock market
2. The bond markets
3. A depository account with any of the depositories in India
Select the correct answer from the code given below :
Code :
(A) Only 1 (B) Only 1 and 3

aRd | fherehl st Tomoe fepaa i 7
(A) Sft. 2. fogen wa 9. . €. @

Who established FICCI in India ?
(A) G.D.Birlaand J. R. D. Tata
(C) Mahatma Gandhi and Dadabhai Naoroji

(C) Only2and 3

GET IT ON
Google Play

(D) shael 1 3T 2

(D) Only 1and2

) ) (B) TNIHETE STHE™ Td S, €. fargen
(C) weTenT Mieh e ereruTé st (D) JUITHETE

3THEE TE S, AR, . 2

(B) Purshottamdas Thakurdas and G. D. Birla
(D) Purshottamdas Thakurdas and J. R. D. Tata

T — 101 F=H - 11 % w1y gafea hife aen gl o e for T e § w1 W g |
T - | TR -1l
(AFRrRR <6 STRR) (eresh)

a. Tafer = Tmer Tmma 1 TR | ST - 14

b. & % TR W WeuTd | FRa II. 3TIET - 15

c. 3T hi FHMAT IIl. 3TE= - 16

d. TERAAT 1 3 IV. ST - 17
e

(A) a-—1I b—1ll c—1l d-1v

B) a-I b -1l c—Il d-1Vv
(C) a-I b -1l c—1Vv d-1l
(D) a-1 b-1 c—1l d-1v

Match List — | with List — Il and select the correct answer from the code given below the lists.

List -1 List - 1I
(Types of Rights) (Article)

a. Right of equality before the law I. Article —14
b. Protection from discrimination on religious ground II. Article—15
c. Equality of opportunity Ill.  Article — 16
d. Abolition of untouchability IV. Article —17
Code :

(A) a-—1I b—1ll c—1l d-1v

(B) a—1I b -1l c—Il d-1v

(C) a-—I b—1l c—1v d-1l

(D) a-1 b-1 c—1l d-1v

-8-
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29. ARANT ki 3T(ehdH Tee T HAYiig 8

The maximum number of members in the Lok Sabha is fixed at

GET IT ON
Google Play

(A) 530 (B) 545 (C) 550 (D) 552

30. F — I %I T - 1| % |1 GAfrd Hife g gieei & e few T e @ w98 3w g |

gt - | gt -1l
(srgEEh) (Frenfes TrEum)
a. 3TT=E 50 | Tegufd T HRTRIT
b. 3TT=E 143 II. —ARTTehT 3TR SRR o S JIeRhUl
c. 318 61 lll. ST |G SR 1 BRI
d. 3EE 320 IV. Halled =TT ol FATERR &R
He
A) a-Il b-IV c-I d—1i
B) a-ll b—1 ¢c—IV d-ll
C) a-Il b-1 c=IV d-1
(D) a-Il b-IV c-I d—Il

Match List — | with List — Il and select the correct answer from the code given below the lists.

List -1 List-1I
(Article) (Constitutional Provision)
a. Article 50 I. Impeachment of the President
b. Article 143 Il. Separation between Judiciary and Executive
c. Article 61 [ll. Functioning of Public Service Commission
d. Article 320 IV. Advisory Jurisdiction of the Supreme Court
Code :
(A) a-1IIl b-IV c-I d-1lil
(B) a-Ill b-I c—1v d-Ii
(C) a-II b-1 c-1Vv d-1lil
(D) a=-M b-IV c-I d-Il
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31. ﬁg@%ﬁwﬁ%ﬁamﬁﬁﬁ%ﬁﬁ@mwnﬂa@ww%?

32.

33.

34.

(D) Frsgmr

(D) Trijugath

(D) HUSHA V

(D) Mandal V

(A) T (B) wifieE () |fr
Which of the following site is considered important in the Indian tradition of historical development ?
(A) Gautam (B) Bhrigvangiras (C) Pani
e 1 Trfeiad 3 @ siH-o1 qugd faveaniis o el & gl 1 U & 7
(A) HISA I (B) HUSA IV (C) HUSA Il
Which of the following ‘Mandal’ of the Rigveda is the collection of the hymns of the family of Vishwamitra ?
(A) Mandal I (B) Mandal IV (C) Mandal Il
g — | 1 g — 1 & gt iR i ghE % T Ry T e & Td g |
et - gt -1
a. hivdfeh ST i. HTHeg
b. TECRUIH UG ii. JrUdde
c. BRI 3N iii. YA ASAQ
d. AR IufEg iv. g
e a b c d
(A) v i i iii
(B) iii i i iv
(C) i iv i iii
(D) iv iii i ii

Match List — | with List — 1l and select the correct answer from the code given below the lists.

List -1

a.
b.
c. Chhandogya Upanishad
d. Mandukya Upanishad
Code :
a b c
(A) v i ii
(B) iii ii i
(C) i iv i
(D) iv iii i

Jreheieh g foTfad q&de o1 98 F1 8 7

(A) ATCTHHTETAR
(C) =T

Kaushitaki Brahman
Brihadaranyaka Upanishad

d
iii
iv
iii
ii

List—1I
i. Samaveda
ii. Atharvaveda
iii. Shukla Yajurveda
iv. Rigveda

(B) IhIASTITATRT
(EEICHECIGED

What is the name of the book written by Akalank ?
(A) Aptameemansalkart

(C) Nyayapravesh

(B) Anekantajayapataka
(D) Tatvartharajvartika

-10-
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35. ‘IR Aeausst’ e qedeh FHefefaa § o form T &1 SRt ot 8 7

(A) HEL T (B) T TSTEw (C) T U= (D) 9T TST&S
‘Oriya Madalapanji’ text gives the information about which of the following dynasty ?
(A) Kesari dynasty (B) Ganga dynasty (C) Sena dynasty (D) Pala dynasty

36. = < %A feg u E |
wA - | : “Tref-gemafa’” § yror wftifad R |
FOH -l : “Hd B E G Ioyd 3N Fefgad B @ |
39T AT b e H i fou u fashedi § @ Tt 3w w1 =5 FIfT
(A) YT — | IR HY — |l S T &
(B) YT — | 3T HF — || TAT 3HT &
(C) HY — | T &, T A — |l 3 7
(D) U — | 3T 8, Wrg HH — || T 8

Given below are two statements.
Statement — | : “Shodashi-Prajapati” includes “Prana”.
Statement — Il : “Soma” originates and grows from “Rita” itself.

In the light of the above statements, choose the correct answer from the options given below :
(A) Both Statement — | and Statement — Il are true

(B) Both Statement — | and Statement — Il are false

(C) Statement — 1 is true, but Statement — Il is false

(D) Statement — | is false, but Statement — Il is true

37. d= @ % fewmu & |
o - | TPt TR % STIET T 3 ST §F WEET I ST Hi |
T — Il : TR UeH % IER fogar o1 93 ga-y o |
3T AT b Tereh H i feu u faeshedi # & Tt 3T w1 =TI HIT |
(A) HUT — | 3R HYF — |l T T &
(B) YT — | 3T HYA — |l ST 37HH 8
(C) HUF — | T 8, T HY — || 3 8

(D) HUF — | ITEA 8, T HH — |l T 7
Given below are two statements.
Statement — | : According to Manjushri Moolakalpa, Chandragupta handed over the kingdom to his son

Bhadrasara.
Statement — Il : According to Parishishta Parvan, the son of Bindusara was Subandhu.

In the light of the above statements, choose the correct answer from the options given below :
(A) Both Statement — | and Statement — Il are true

(B) Both Statement — | and Statement — Il are false

(C) Statement — | is true, but Statement — |l is false

(D) Statement — | is false, but Statement — Il is true
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38. ford quU-aeafaeTEt 3 <o AIUST TR HECET o TR TSI <l TRT forwersor feRm o 7
(A) T. . Fe (B) €. &. u (C) . UH. HiEd (D) T. . qraRan

The pollen analysis of pollen remains of Chopani Mando and Mahadaha was done by which
palaeo-botanist ?

(A) M. D. Kajale (B) D.D. Pant (C) K.S. Saraswat (D) A.K. Pokharia

39. TN 3@ H FGUIE  aied fohg fozm o e gu & 7

(A) Tl (B) Hfeerdt (C) eféft (D) Se
In which direction, the evidence of port has been found in Lothal excavation ?
(A) Eastern (B) Western (C) Southern (D) Northern
40. G -1 HI T - I G gAfSd Hife qen gt o A= fGu e He #§ @ T 3T 1 w=E Fif |
et -1 gt -1l
(farfer) (GfeR)
a. I8 IAT HIATRH i. Bited i
b. TefyEm A fafa ii. faferre we. foreht
c. FeATdITea fafy iii. @, Th. ft. ATEIEH
d. re-14 fafer iv. T. 3. S|
®e:
a b c d
(A) iv iii i ii
(B) iii iv ii [
(C) iv ii i iii
(D) i ii iii iv
Match List — | with List — Il and select the correct answer from the code given below the lists.
List -1 List -1l
(Method) (Scientist)
a. Dendrochronology i. Ferington Denial
b. Potassium Argon method ii. Williard F. Livi
c. Thermoluminescence method ii. C.F.V.Weizsacker
d. Carbon—14 method iv. A. E. Douglas
Code :
a b c d
(A) v iii i ii
(B) iii iv ii i
(C) v ii i iii
(D) i ii iii iv
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41, g -1 g - 1@ gufaa Hife iR gl o = fou T e § @ w9 s = il |

T - A -1l
(F2re) (SRl
a. WgIed fugfen i TEOTHIO HERT
b. foerema i, ATHATSTOT &
c. AThSIA i, JITSTOT TR
d. TfgeqR iv. SISO HER{d
%<
a b c d
(A) i i iv iii
B) i v i iii
(C) iii [ iv i
(D) i i iv i
Match List — | with List — Il and select the correct answer from the code given below the lists.
List -1 List -1l
(Site) (Culture)
a. Mahadeo Pipariya i. Mesolithic culture
b. Tilwara ii. Chalcolithic culture
c. Marakdola iii. Palaeolithic culture
d. Mahidpur iv. Neolithic culture
Code :
a b c d
(A) i i iv iii
B) i v i iii
(C) iii [ iv i
(D) i i iv i

42. TR G HYfermwE |
T — | : STeATEGH! H shael 1% fafimse wiet 3R a1a gevfa gewme fiet & |
HUA — || - REET § Forehrefl & e 6 gg=e il T 2
3T AT b e H Fie feu u fashedi § @ @&t 3w w1 =3 Fife
(A) H — | 3T HYF — || SHT TcF 8 (B) Y — | I YT — || G 3TET 2
(C) U — 1T &, T HYF — || 3T 8 (D) Y — | I 7, T A — | T 3
Given below are two statements.

Statement — | : There is only 1% typical Black and Red Harappan pottery available in Allahdino.
Statement — Il : Lapidary workshop has been identified at Bhirrana.

In the light of the above statements, choose the correct answer from the options given below :

(A) Both Statement — | and Statement — Il are true (B) Both Statement — | and Statement — Il are false
(C) Statement — I is true, but Statement — Il is false (D) Statement — | is false, but Statement — Il is true
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43. TR T Hwfemm F |
HUA — | : AgIies! ¥ I 1 A0 fiyem o |
HAF — || : YA | grft i w1 YT fe o |
3T T b AT H A feu Tu fashedi § & T8 3T w1 =TI HIT
(A) U — | 3 B — || GHT & & (B) A — | 3R Y — || GHI 3T &
(C) M — | T B, T e — || 3 B (D) U — | 3THCA B, T e — I T B
Given below are two statements.

Statement — | : Shell scale was found at Mohenjodaro.
Statement - Il : lvory scale was found at Lothal.

In the light of the above statements, choose the correct answer from the options given below :
(A) Both Statement — | and Statement — Il are true (B) Both Statement — | and Statement — Il are false
(C) Statement — I is true, but Statement — Il is false (D) Statement — | is false, but Statement — Il is true

44. G — 1! G - 11 F GATAd HIST 3R g o = 5w 10 fe 7 8 78 W A |

T -1 g -1l
(TUEAA) (SeEHHAT)
a. e ‘CﬁTrﬁ i, S Th. g
b. HIUST ii. ™SIl HgHg 9l
c. STETehIE iii. T T
d. TsiEt iv. Sf. dt. SEft 3R AgeTen
e
a b c d
(A) i v i iii
B) i v iii [
(C) iii i iv i
(D) i i iv i
Match List — | with List — Il and select the correct answer from the codes given below the lists.
List -1 List -1l
(Site) (Excavator)
a. Kot Diji i. G.F.Dales
b. Manda ii. Fazal Ahmed Khan
c. Balakot iii. Gregory Possehl
d. Rojadi iv. J. P. Joshi and Madhubala
Code :
a b c d
(A) i v i iii
B) i v iii i
(C) iii [ iv i
(D) iii ii iv [
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45. 3TTEE TEhid o a1 H Fr=fafad sl W foam Hifsw |
i. TESATE qfeT TAHT AT o |
ii. 3 A =Ted ¥ aRfed T8 9 |
iii. T T I STESATRAT hl FTATEAT HT Teh A1GH T |
iv. 30 U1 & T el 3R AT JHTUe 318 8 I 8T ¢ |
= feu mu foshedt § @ Tl ST 1 T HINC
(A) i, iii 3T iv TET & (B) i 3Mii T&l 8
(C) i, ii 3T i T & (D) ii, iii 3 iv T&T &
Consider the following statements pertaining to the Ahar culture.
i. Natives of Ahar culture knew copper smelting.
ii. Rice was unknown to them.
iii. Metal work was one of the means of economy of Ahar.
iv. Black and red ware with white painting found from Ahar.

Choose the correct answer from the options given below :

(A) i, iii and iv are correct (B) iand ii are correct
(C) i, ii and iii are correct (D) ii, iii and iv are correct
46. TR TEH(d o ORI A2l § I U o
I sfireraeht
II. =
. 3ATcHTe
Iv. orafga
= feu o foskedt § @ Tl ST 1 T HINC
(A) 13RI (B) 13T
(C) N3 (D) 13RIV
Remains of Acheulian culture have been unearthed from the rock-shelters at
I. Bhimbetka
Il. Ghagharia
[ll. Adamgarh
IV. Lekhahia
Select the correct answer from the options given below :
(A) land 1l (B) I'and 1l
(C) land i (D) Iland IV
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47. UEU % 3G H FEHIGAT I g8
I fopfia srogferm
II. IR STIferea
IIl. == qUITSTIOTER
IV. & qryTfoTeh
= feu o faehedi § O G I &1 999 Hif
(A) 13RIV (B) 11 3T 11l (C) 3TV (D) 13RIV

Excavations at Paisra revealed cultures of
I. Advanced Acheulian

Il. Early Acheulian

[ll. Upper Palaeolithic

IV. Mesolithic
Choose the correct answer from the options given below :
(A) land IV (B) lland 1l (C) Iand IV (D) lland IV
48. IS HERT H I3 UEAA! T HaATTUHh Gehrgul Heral &
(A) RIS ¥ (B) Fryg-Tr= feM |
(C) =iferedr # (D) R BT
The greatest concentration of Kot Dijian sites lies in
(A) Saurashtra (B) Indo-Gangetic Plain
(C) Cholistan (D) Ghagghar Valley
49. Tr=AfaRgd <ol bl U A H Safeda Hife |
|. Ufehtas
II. ST RE - 31 hehd
1. g efafer
IV. AR - 3ThR~E
= feu T fashedt # @ T I g
(A) 1L L1V (B) v, 1, 11 (C) v, 1, 1,1 (D) IV, 11,1
Arrange the following steps in a sequence.
I. Pekinesis

Il. Australopithecus-Africanus
[ll. Homo Habilis
IV. Australopithecus-Afarensis
Choose the correct answer from the options given below :
(A) 11V B) IV, 11, 1,1 (C) IV, L1 (D) IV, 1,11
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50. fa=fefiaa @ 9 F9-91 th T YR T GEE 97 ALIITEI0] A TIA § 7

(A) e (B) fosm (C) ST (D)
Which one of the following site is the largest Mesolithic site in India ?
(A) Khimsar (B) Bijaipur (C) Bagor (D) Khuri
51. Trefcfaa quamTies T2l i HIeEhAaR Saeyd HifT |
. g
[l. AT
. "iqrsd
IV. shredt
i feu U foeredi © @ @& IR 1 S HINT
(A) L1, v (B) IV, I, 1,1 (C) 1,1, v, 1 (D) I, v, 1,
Arrange the following palaeolithic sites in chronological order.
I. Patne
Il. Masul
lll. Sadab
IV. Kalpi
Select the correct answer from the options given below :
(A) L1, 1, v B) IV, I, 1, I (C) 1,1, 1v, 1 (D) I, Iv, 1,
52. RIS hl TTh—-ESTT HEH(d 1 HIA o
(A) 2200%.9, & 1700 3.9, (B) 2300%.9, & 1800%.9.
(C) 2400%.9. ¥ 2200 3.9. (D) 2500%.9. & 1500 3.4,
The period of the Pre-Harappan culture of Kalibanga is
(A) 2200 B.C. to 1700 B.C. (B) 2300 B.C. to 1800 B.C.
(C) 2400 B.C. to 2200 B.C. (D) 2500 B.C. to 1500 B.C.
53. AT 1 HecaqUl sevfiy [eyd firegmn fFr=fafaa o @ form for & feom 8 7
(A) fear (B) hoA (C) Head (D) HAETETE
Bhirrana, an important Harappan sites in Haryana is situated in which of the following district ?
(A) Hisar (B) Kaithal (C) Kurukshetra (D) Fatehabad
54. B % Aed 3R FH = ffafed § @ feew wafRa 2 ¢
(A) TR ggufi (B) W gevfi™
(C) Wt Fgufi (D) BT
The middle and upper phase of Hulas belongs to which of the following ?
(A) Early Harappan (B) Mature Harappan
(C) Late Harappan (D) Post Harappan
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55. frfaiad § 9 fore geofla queya @ dfd 1 s+t fafean i qfd s g3 2 ?

(A) HIESIEe! (B) &I (C) hTetta (D) e
From which of the following Harappan site, a copper sculpture of bird has been recovered ?
(A) Mohenjodaro (B) Harappa (C) Kalibanga (D) Lothal

56. = g1 e few mu E |
U — | : FUTEA € AIGeS i &l JUaAT T g3 @ |
U — Il : HIges shi qugfdar 9Ra % @ ggvfly Tl € e 88 @ |
IR HUAT o AT H i U T foehedt B ® Wl ST 1 TIA hIT
(A) FUT - | 3T HYT - || T TcF 8 (B) YA - | 3T HYA - |l ST 37HH 8
(C) HAF - | TcT 8, g HUA - || 3 8 (D) e - | I 7, W] A - Il T 8
Given below are two statements.
Statement — | : Two terracottas of Mother Goddess have been found from Banavali.
Statement — Il :Terracottas of Mother Goddess have been found from all the Harappan sites of India.
In the light of the above statements, choose the correct answer from the options given below :

(A) Both Statement — | and Statement — Il are true (B) Both Statement — | and Statement — Il are false
(C) Statement — Il is true, but Statement — Il is false (D) Statement — | is false, but Statement — Il is true

57. 3UfYE, WTEGHAT 3T SErgS I AfFAfeld 9 I F1 hal STl 8 ?

(A) T (B) &L (C) = (D) SEUT=AT
What is the Upanishadas, Bhagavadgeeta and Brahmasutra collectively called ?
(A) Laghutrayi (B) Brihattrayi (C) Trayi (D) Prasthantrayi

58. = Q1 A few M |
oA — | : & 3TN eI <ifeeh 7= o q fovig 7 9rd € |
U — Il : BT TRt 21 YR % a9 39 < fasei & & # |

TG HUAT b TSk § A fou Tu faehedt # ¥ ¥ W 1 A HIC ¢

(A) THI Y7 & & (B) 2H1 HYA 3HA §

(C) YT - | T 8, T A - || 3THA 8 (D) U - | A B, Wrg HYF - || TF B
Given below are two statements.

Statement — | : Shrauta and Grihya are regarded as two distinctions of Vedic Yajnas.

Statement — Il : Altogether there are 21 types of Yajnas in these two distinctions.

In the light of the above statements, choose the correct answer from the options given below :

(A) Both Statements are true (B) Both Statements are false
(C) Statement — | is true, but Statement — Il isfalse (D) Statement — | is false, but Statement — Il is true
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59. TR fehm 4 dietg werue 3feafad 2 | frafafea & @ -0 wgeHue witfy S ssereamht &
Sfcafead & 2
| T
Il. 3799
IIl. <HTaIT
Iv. 3fg

V. dc"

Fr= feu T foehedi § & wE 3T 1 =T HIT
(A) 1, 11 3TN (B) IV V
(C) I, IV 3R V (D) 1,11, IV 3TV

Sixteen Mahajanapadas are mentioned in the Anguttar Nikaya. Which of the following Mahajanapadas
are mentioned in the Ashtadhyayi of Panini ?

I. Magadh
II. Ashmak
lll. Kamboj
IV. Chedi
V. Vatsa
Choose the correct answer from the options given below :
(A) I, Iland 1 (B) IVandV
(C) 1, IVandV (D) I 1, 1Vand V

60. TSI =eeh <hl IR o foame & grary 8§ 919 %o %od foy mw g |

1. e 1 foamg faey-wiefit < TS 3¢9 | g3 o |

2. gTard! T faTg hiemeslt o TS 3o § F3 7 |

3. T3ran =1 foarg sta=dt o TS FAvs-S=Id I g o7 |

4. TGHTI 1 foaTe H% W Uoed | g3 o |
39 HYAT b 3Teleh § FAferiaa foshei § @ Tl ST 1 =I5 AT
(A) I 1 3R 2 (B) st 1,3 3N 4
(C) haaT 1,23 3 (D) st 3 3T 4

Given below are some statements regarding the marriage of the daughters of king Chetak.
1. Prabhavati was married to king Udayana of Sindhu-Sauvira.
2. Mrigavati was married to king Udayana of Kaushambi.
3. Shiva was married to king Chanda-Pradyota of Avanti.
4. Padmavati was married to the Kuru king Dhananjaya.
In the light of the above statements, choose the correct answer from the options given below :
(A) Only 1 and 2 (B) Only 1,3 and 4
(C) Only1,2and 3 (D) Only 3and 4
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61. Ifealt’ foem Imferr’ & &9 # “Tream’ wreq fopam o, formr wom i fame oft 7

(A) TSR (B) e (C) Hiurasg (D) Su=A
‘Ubbiri’ who attained ‘Nibban’ as ‘Upasika’ was a resident of which place ?

(A) Rajagriha (B) Shravasti (C) Kapilavastu (D) Isipattan

62. Tmafefaa westi + s %A ° sHafed # |

1. feRaR i g

2. ThfeTa &1 g

3. Ghthell R T TATIHT

4. A H1 G
T3 o |fed B o A o AR 1 feu U foashedi # @ &l IW 1 w94 HINT ¢

(A) 3,1,2,4 (B) 2,4,3,1 (C) 2,3,4,1 (D) 3,1,4,2

Arrange the following events in a sequence.
1. Killing of Nicenor
2. Killing of Philip
3. Establishment of the city of Boucephela
4. Battle of Sangal

Choose the correct answer from the options given below according to the occurrence of the events :
(A) 3,1,2,4 (B) 2,4,3,1 (C) 2,3,4,1 (D) 3,1,4,2
63. Trfaifad oMt W fomm ifsT |
1. T Bodl 3R sgect i ITed 83T T |
2. HETaw § fafream o fUar =1 9 e Jqmen = g |
3. ®grH, faftsar = fi o |
4. Tofre@R % T g7 1 AW Soad o |
fro feu U foasheut § @ WE AT Ot faehey T =¥ Shif
(A) Thadt 1 3T 2 (B) et 1,33 4
(C) had 1,2 371 3 (D) et 3 3R 4

Consider the following statements.
1. Sechanak was received by Halla and Behalla.
2. The name of the father of Bimbisara is given in Mahavansha as Dharmayashas.
3. Rudrayana was a friend of Bimbisara.
4. The name of a son of Bimbisara was Sheelwant.

Select the correct option from the following which consists of correct statements :
(A) Only 1 and 2 (B) Only 1,3 and 4
(C) Only 1,2and 3 (D) Only 3and 4
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64. HEEI o ITTHR WY o ITHhI hl ITeh! IMEATETY T FAfrd hHifse qen gfawi & fi= fgu mu e 4 9

TE I 1 =5 T |
IITEH EATEte
a. faframm . 3299
RCEIRNE Il 169
c. 3qRA . 18 =
d. fereEm IV. 5298
e
(A) a—Il,b—1V,c—1,d—1Il B) a—Il,b—1,c—1IV,d—1ll
(C) a—IV,b—=1ll,c—1,d—Il (D) a=IV,b—1,c—1l,d—1Il

According to Mahavansha, match the rulers of Magadha with their reign and choose the correct answer
from the code given below the lists.

Ruler Reign

a. Bimbisara I. 32 years

b. Ajatshatru II. 16 years

c. Udayin Il. 18 years

d. Shishunaga IV. 52 years
Code :
(A a=Il,b=1IV,c—I,d-1ll B) a-Il,b-lLc—-IV,d-1l
(C) a—-IV,b—-Ill,c—1,d-1I (D) a—-1IV,b—-Lc—1Il,d-ll

65. < QI YA 4T T &, TH 1 AHHAA (A) 3T B I Toh (R) el T 2 |
R (A) : fagred 3 a9 ° qu Stk IR 1 g@1 S |
e (R) : THYT = fagred &1 g 3 ‘s’ & i = &1 9= fea |
ITYFI HAI b A H ARG fohed] § 8§ W&l I 1 T HIVT
(A) (A) 3 (R) T &1 & 3T (R), (A) bl &l = &
(B) (A) 3 (R) ST W&l &, g (R), (A) BT Tl s T @
(C) (A) & B, W (R) T R
(D) (A) T 2, g (R) HET 2
Given below are two statements, one is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) : Siddhartha dried his body by practicing penance in Anuvaineya.

Reason (R) : Ramaputta taught Siddhartha the knowledge of yoga different from ‘Sanjna’ and ‘Asanjna’.
In the light of the above statements, choose the correct answer from the options given below :

(A) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(B) Both (A) and (R) are correct, but (R) is not the correct explanation of (A)

(C) (A)is correct, but (R) is wrong

(D) (A) is wrong, but (R) is correct
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66. Torm Afici@ & 3737 T I M- Hadl & 7

(A) ST oy Rretrerg | (B) Tt oy RreTerE |
(C) e @Y Tt (D) wre=ht @1y fretrer@ A
In which inscription, Ashoka told himself as Shakya-Buddha ?
(A) Brahmagiri minor rock-edict (B) Gujarra minor rock-edict
(C) Bairat minor rock-edict (D) Maski minor rock-edict
67. Tmafefaa o @ a7sme o1 SH-T1 Tfiei@ uie Je1 TA § o9 J=Rehl i 9T T I Ll 8 7
(A) Teeta faremere (B) et faremmerd
(C) ™ fareTet@ (D) e et
Which of the following Ashokan inscriptions describe the despatch of religious missionaries to five Yavan
kingdoms ?
(A) Rock-edict — I (B) Rock-edict — llI
(C) Rock-edict — X (D) Rock-edict — XIlI

68. = &l A U 7Q &, Th I AMHFYUA (A) 3R G 1 qoh (R) Hal 1 2 |
TR (A) : Fh-I -8 TRl &7 id 2 98 G eft &t T80 2 |
Teh (R) : TTOST J SUTISMA SO <hl 1871 TSI hl shded ST & |
IR HUAT o TS § FfcIiga faehedi 8 & Tl 3T 1 =994 HIfT
(A) (A) 3R (R) THT Tl & 3 (R), (A) I T&l ST ©
(B) (A) 3T (R) ST @&l &, Tg (R), (A) 1 Tl e e @
(C) (M) ®EI B, 9 (R) TTerd B
(D) (A) IS &, T (R) & B
Given below are two statements, one is labelled as Assertion (A) and other is labelled as Reason (R).
Assertion (A) : The society which is protected by Rik-Yaju-Sam is never miserable.
Reason (R) : Chanakya has told the duty of the king to protect the Varnashrama tradition.
In the light of the above statements, choose the correct answer from the options given below :
(A) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(B) Both (A) and (R) are correct, but (R) is not the correct explanation of (A)

(C) (A) is correct, but (R) is not correct
(D) (A) is not correct, but (R) is correct

69. ford puToT STEeh o e W ‘Afafetam At vwatta” og 3ifhd 7 7

(A) HiTsh TUH (B) =TS

(C) A Hhefhad (D) gferh

Which Kushana ruler’s coin has the inscription “Basilius Soteras Airmeaoy” ?
(A) Kanishka — 1 (B) Vashishka

(C) Kujula Kadphises (D) Huvishka
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70. Tr=fcRad o 8 SF-81 81 STfeerr T < TSNS g HiE hidt § RA H Fal 59T T/ AT ?

(A) Seifaas (B) Trreerfis (C) SRR (D) &t
Which one of the following military official was not sent to India by the rulers of Syria in the Mauryan period ?
(A) Patrocles (B) Thimosthenes (C) Dionisius (D) Strabo
71. Tmafafea o @ -1 e 09 #1a @ gefad T8 8 2
(A) TrTieTeh (B) <GS (C) HeHTTH (D) 3wier
Which of the following weapons is not related to the Mauryan period ?
(A) Panchalika (B) Devadanda (C) Sukarika (D) Arrada

72. 3130k 3 ferdep foTu Jurer § TaoH AHes TR @R 7
(A) 319 I3 & fag (B) 3 T few (C) g fuggani & fow (D) =TT & T

For whom did Ashoka established a city named Devapattana in Nepal ?

(A) For his son (B) For his daughter (C) For Buddhist Monks (D) For traders
73. TTE el o YT ATH U ST1HCT@ hT Icchiveh whid o7 ?
(A) $7 (B) STgH (C) wIsherd (D) FAIS Tl
Who was the engraver of the Poona copper plate inscription of Prabhavati Gupta ?
(A) Ishwar (B) Basuka (C) Chakradasa (D) Kulayaja Gupta
74. Tefefad § 9 form wmes = 3199 Tqul TS H Hiew 1 Iedred 3R fosea fafvg o feam e 2
(A) &Y (B) wHuTA (C) Wt (D) FHHNITA
Who among the following rulers forbade the production and sale of liquor throughout his kingdom ?
(A) Harsha (B) Dharmapala (C) Bhoja (D) Kumarpala
75. TrefaRad 4 & fpE TUH & g4 3f=a=0 o &9 § 376 AHaTHR JRhiaAl I &rdl 8 7
(A) Tt TT&T (B) TSI T&T (C) 3Tl & (D) THTETE T[T
In which of the following places we get the traces of eight life-sized human figures as relief ?
(A) Carle cave (B) Bhaja cave (C) Ajanta cave (D) Nanaghat cave

76. d=Q weH fewmu E
A~ | : WG AT T AW UG HG1 0@ & 1 E31 8 |
T — |l : FSIT TG T I9-99 € ¢ |
3T T b T H A feu Tu fashedi § & T 3T 1 = HIT
(A) YT — | 3 HUT — [ A1 T 8 (B) U — | 3 HAT — || ST AEH 8
(C) Y — | T &, T A — || 3 7 (D) U — | A 7, T B — |1 T &
Given below are two statements.

Statement — | : The name of Shardul Varma has been known from the Asirgarh coin inscription.
Statement — Il : Badawa inscription is a Yajna-Yupa inscription.
In the light of the above statements, choose the correct answer from the options given below :

(A) Both Statement — | and Statement — Il are true (B) Both Statement — | and Statement — Il are false
(C) Statement — I is true, but Statement — Il is false (D) Statement — | is false, but Statement — Il is true
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77. -1 G - 11§ gAfaa FifT iR gt & = for T e § @ w6 S w1 e A

it - | g -1l
(=) (3 &)
a. 3=gq . feoeht i g&ff veme
b. TTEH II. YT
c. TTOTafeATT Il TgHTet
d. SIapars Iv. Afeesa
%C:
a b c d
A 1] Il v
B) IV Il I 1]
() m v I I
(D) IV I Il I
Match List — | with List — Il and select the correct answer from the code given below the lists.
List—1 List -1l
(King) (Modern Area)
a. Achut I. Delhi and Eastern Punjab
b. Nagasena Il. Mathura
c. Ganapatinaga lll. Padmavati
d. Kotakulaja IV. Ahichhatra
Code :
a b c d
A 1] Il v
B) IV Il I 1]
() m v I I
(D) IV 1l Il I
78. T el g BHA § TEEId Wdl o HHg <l HA1 hgl STl AT ?
(A) *herh (B) heR-IE
(C) e (D) SR
What was the group of fields brimming with green crops called during the Gupta period ?
(A) Kaidaraka (B) Kedar-shasya
(C) Baiheya (D) Shaleya
79. Tt sereft st afaerd wi off ¢
(A) @irer (B) FF=1 (C) Fgwew (D) AT
Who was the Pratihari of Gautami Balashri ?
(A) Lota (B) Sunanda (C) Kusumalata (D) Nayanatara


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

80. frfetfaa sTreehi o1 37k IMEFHTA & HUTTER AT HiferT |

81.

82.

83.

GET IT ON
Google Play

1. SehHACA
2. TospaTiee d=m
3. HHeX yoH
4. Sathg fgd=
Frar fou MU foehedt § & wE 3T 1 =TI HINT
(A) 3,1,2,4 (B) 2,4,3,1 (C) 2,3,4,1 (D) 8,1,4,2
Arrange the following rulers according to their reign.
1. Jagadekamalla
2. Vikramaditya —V
3. Someshwar — |
4. Jayasimha — I
Choose the correct answer from the options given below :
(A) 3,1,2,4 B) 2,4, 3,1 (C) 2,3,4,1 (D) 3,1,4,2
et Wit Frfetfaa ® @ fore gy & gwafad 8 ¢
(A) IS (B) 31 (C) u1g (D) SH
Meguti temple is associated with which of the following sect ?
(A) Vaishnava (B) Shaiva (C) Buddhist (D) Jain
form e Wl TH, huE, TS 3R A % qod HE TR 7
(A) |HITd (B) HHITA
(C) gaua T (D) TiaHig |raehvfi
Which ruler is said to be equal to Rama, Keshava, Arjuna and Bhimasena ?
(A) Samudragupta (B) Kumargupta
(C) Dhruvasena — I (D) Gautamiputra Satakarni
= 31 e fe e # |
A — | : TN 3T YHias! o |
A — Il : HITHY <hifcia-] T 1 I T |
3T T b e H Fie feu u fashedi § & Tt 3T w1 =3 HifT
(A) YT - | 3R B - || T TcF 8 (B) U - | I HH - |l ST 37TH 8
(C) ¥ - | 9T &, T A - || 38 & (D) A - | A B, g HYF - || TF B
Given below are two statements.
Statement — | : Mangalesh was a Shaivite.
Statement — Il : Mangalesh was the son of Kirtivarman — 1.

In the light of above statements, choose the correct answer from the options given below :
(A) Both Statement — | and Statement — Il are true (B) Both Statement — | and Statement — Il are false

(C) Statement —1is true, but Statement — Il is false (D) Statement — | is false, but Statement — Il is true
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84, Tyefafaa 4 @ form stficrg o vfder e fufeens =ty et ™ 2 2

(A) G9H a1 93 ITfierE (B) Tafer Ifirerg

(C) ST fierE (D) Sy fer@

In which one of the following inscriptions, Pratihara king Mihirbhoja is called as Prabhasa ?
(A) Sanjan copper plate inscription (B) Gwalior inscription

(C) Badal inscription (D) Daulatpur inscription

85. g wem fewmu E |
FeH — | : It 3 forex &= o smem fomam |
YA — Il : T TER TTTgR o = & |
3T AT b e H Fi feu u fashedi § @ @&t 3w w1 =3 Fife
(A) S - | IR B - || AT T & (B) ST - | 3T HT - || Tl AT &
(C) HA - | TcT 8, g HUA - || 39 8 (D) o - | A 7, T HAH - Il TF
Given below are two statements.
Statement — | : Chandellas ruled in Vindhya region.
Statement - Il : Chandellas were feudatories of Gurjara Pratiharas.
In the light of the above statements, choose the correct answer from the options given below :

(A) Both Statement — | and Statement — Il are true (B) Both Statement — | and Statement — Il are false
(C) Statement — I is true, but Statement — Il is false (D) Statement — | is false, but Statement — Il is true

86. ey TgeuTe H 3fectfad Sfiad Ik o Rg SRuN § ¥ foha qd 59 & grafa § 7

(A) IH U= (B) veH = (C) 92H & DEEERCE
Out of the twelve causes of life cycle mentioned in Pratitya Samutpada, how many are related to previous birth ?
(A) First five (B) First three (C) Firsttwo (D) Only first one
87. T TSIEI % IMEh Soclloldd gl d U7 9
. SFETR Il. SIREUTIEh . 37eYd "R IV. T
e foqu MU foehedt § & T ST 1 =TI HINT
(A) 130T 1| (B) 13T Il (C) 13N (D) 11l 3 IV
The texts composed by Ballalsen, the ruler of the Sena dynasty were :
|. Danasagar Il. Dasharupavaloka lll. Adbhuta Sagar IV. Dasharupaka
Select the correct answer from the options given below :
(A) land 1l (B) I'and Il (C) lland Il (D) lland IV
88. FoTggicd 7 LT & feha Tt o1 Ieor@ foham 2 72
DREE (B) = i (C) IR T (D) &1 o
How many classes of Kshatriyas have been mentioned by Ibnakhurdadaba ?
(A) Five classes (B) Three classes (C) Fourclasses (D) Two classes
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89. Hiet % frfaitad IeataR wrTi ! =l & FR i X e HIT |

|. ST
[l. <hcTA
I, 3Afrsa™
IV. 3Hdh
= feu Tu foeredt § @ T@ 3T 1 =T34 hIfC
(A) L 1L v, B) I, 1V, 1, 1 (©) n, v, i (D) v, 1, 1,1
Choose the following vertical parts of temple from bottom to top.
I. Jangha
Il. Kalasha
lll. Adhishthana
IV. Amalaka
Choose the correct answer from the options given below :
(A) L 1LV, B) I, 1V, 1, 1 C) n, L v, i (D) v, 1, 1,1
90. forg T @ uar Irar 2 for I 3 <feror o st s3aE # e T W fye e 9 ¢
(A) HUS=HhTI (B) gﬂTﬁW {cd (C) 39ad %l'—ﬁi{ (D) HAAIHTAT
Which text shows that the merchants of the North and South used to meet at one place ?
(A) Samaraichchhakaha (B) Subhashit Ratna (C) Upavan Vinod (D) Kuvalayamala
91. @M=l st =t Afr fraferfaa & @ form uy d 3feafaa g ¢
(A) AL Tt (B) iferamermgan
(C) MR ugfd (D) 3T g=a1
Nine categories of feudatories are mentioned in which of the following book ?
(A) Abhidhan Ratnamala (B) Nitivakyamritam
(C) Sharangadhar Paddhati (D) Aparajit Prichchha

92. AR g 3fedfad frmi & g A f=fefiga § @ F-Tr R wd @ 0
(A) Sit I 3Tk Ti-a Tfgd I=a Trard & fasha aur 38 TRt @ o1 AfFR ? |
(B) Tt &1 Tit-e I & s= fohg Tt o 1 et W &1 31fem 2 |
(C) Tt I Tit-a= S S T ATUHR 7, foheg T o7 1 et T@a 1 TR 7= 2 |
(D)Eﬁ%mé%ﬁ%mmﬁraﬁéaﬁamﬁ@r@ﬁwﬁwéﬁéﬁﬁgﬁmaﬁ&mqﬁw
Eal |

Which one of the following statements is correct with respect to the rules mentioned by Katyayana ?
(A) A woman has the right to sell and mortgage immovable property including her stri-dhana.

(B) A woman has the right not to sell stri-dhana but to mortgage stri-dhana.

(C) A woman has right to sell stri-dhana, but not to mortgage her stri-dhana.

(D) Gives a woman the right to sell and mortgage her immovable property, but not to do so to her stri-dhana.

93. = &1y fewmu # |
HUA — | : T T | 1S I hl Aigehl bl THI’ 3T <8 99 6l Aghl ol AT el T 2 |
HAF — || : IYeh F Tl YT Sl e s 7 |
3T T b T H A feu Tu fashedi § & T T 1 =3 HIT
(A) HH - | 3R HYT - || gHI T 8 (B) e — | 3R HUT — || gHT 3T 8
(C) HU - | T 8, g HUA - |l 39 7 (D) HH - | U 7, W] HAH - Il T 8

Given below are two statements.

Statement - | : Eight-year-old girl is called ‘Gauri’ and ten-year-old girl is called ‘Kanya’ in ancient texts.
Statement - Il : Aparark has described the practice of sati as reprehensible.

In the light of above statements, choose the correct answer from the options given below :
(A) Both Statement — | and Statement — Il are true (B) Both Statement — | and Statement — Il are false

(C) Statement — | is true, but Statement — |l is false (D) Statement — | is false, but Statement — Il is true
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94. Terma WfcreTfées =M I YoIates AT ?

(A) €. Heeamm (B) seiheg (C) . Tumg= (D) 3Teh3Tie
Who considered historical justice to be value based ?
(A) D. Mandelbaum (B) Buitterfield (C) K. Pearson (D) Oakeshott
95. UfETieh JcaeqaTe i ek fohtl HHT SITaT 8 7
(A) Tl (B) THH (C) =Tk (D) Teh
Who has been regarded as the father of Historical Positivism ?
(A) Kula (B) Schaff (C) Blake (D) Ranke
96. g feuaufi ferem i 2 o5 ‘s, Su=ma @ 3rfes wae g1 87 7
(A) efae gm (B) Trarsit (C) fereht (D) |
Who has remarked that “History is more interesting than a novel” ?
(A) David Hume (B) Toynbee (C) Livy (D) Tacitus
97. T - Il % TREhI I FH - | HI TEdehi § T it TR i & fi= fou 1w Fe § ¥ @& W
1 T HIFT |
et - | gt -1
a. © MBS faedt 311 sfvean 1. . g5y, UHEH
b. T fedt 31w feweifepa wefen 2. f=dq
c. Tifauew 31t foretdt frfefasm 3. TgfoH el
d. € ShTHeheT 3-eNeyH 3ATh faedt 4. foqer
%
a b c d
(A) 2 3 1 4
(B) 4 2 1 3
) 1 3 4 2

(D) 4 1 2 3
Match the authors of the List — Il with the books of the List — | and select the correct answer from the code
given below the lists.
List -1 List =11

a. The Oxford History of India 1. J. W. Thomson
b. A History of Historical Writing 2. Richards
c. Principles of Literary Criticism 3. Edwin Robert
d. The Economical Interpretation of History 4. Smith
Code :
a b c d
(A) 2 3 1 4
(B) 4 2 1 3
C) 1 3 4 2
(D) 4 1 2 3
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98. H - | &I FI - 1| & GAfed Hifd 3 gieai o F= fou T8 fe 7 ¥ wE W 1 == Hi

gt - | g -l
a. ‘aed Towept § wlieror o @1 €, vl wHenst w5 1. SIS
T & Fehd B |7

b. ‘9Tt diEt 1 T IHeh ToTu $vaw o1 TR 7 31 2. TfaAsht
gfergrereh . wTefl it o T Bl & |7

c. ‘Ufgries ql 1 T@EY TIATCHS Bl & | 3. Feifthes
d. “SfeTEeR had I8 Ufderie a2l i TR ST ° 4. 9TEW
rept Trery el T Y wwranst | gt @ 1”7
He

a b c d

A1 3 2 4

®4 2 1 3

©1 3 4 2

4 1 2 3

Match List — I with List — Il and select the correct answer from the code given below the lists.

List -1 List -1
a. “The facts | am examining may be the solutions to my problems.” 1. Collingwood
b. “For him the voice of posterity is the voice of 2. Toynbee
God and the historian is voice of posterity.”
c. “Historical facts have a selective nature.” 3. Butterfield
d. “The historian accepts only those historical facts 4. Walsh

which are related to civilization of developed society.”

Code :

a b c d
A1 3 2 4
B) 4 2 1 3
©1 3 4 2
D) 4 1 2 3
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99. FH - | &I I - 11 & gafea Hife aur gl o e T T g #§ ¥ T ST w1 =9 FINT |

g - | -l
a. SNTeHeh Sfafy 1. wufies v fgdaes |rdi o1 3w
b. IR ufafyr 2. SEATEEl
c. UMHTCHS Fo& Tfafy 3. WIS T
d. UfeTiees fafa 4. TRy srfiraeror weq
e :
a b c
(A) 1 3 2
(B) 3 4 2 1
(C) 1 3 4 2
(D) 4 1 2 3
Match List — | with List — Il and select the correct answer from the code given below the lists.
List -1 List -1l
a. Experimental method 1. Using primary and secondary sources
b. Ex-post-facto method 2. Questionnaire
c. Descriptive survey method 3. Standardized tests
d. Historical method 4. Typical characteristics tests
Code :
a b c
(A) 1 3 2
(B) 3 4 2 1
(C) 1 3 4
(D) 4 1 2 3

100. “‘3fgT® hadl TRAISN 1 HeheH R WS T8 7, 31fug 3ud ffga sri-svror ufskan st womar oft 8 |
Ig Y foroent & 7
(A) FR (B) &I (C) HifeTTege (D)

“History is not only the collection and discovery of events, but also the exploration of the causal process
involved in it.” Whose statement is this ?

(A) Car (B) Hegel (C) Collingwood (D) Croche
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